BK S:t Erik

Lordagsbarometer 2022-01-15

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poéng % Namn MID Klubb
1 8 116.0 60.41 Catharina Merner - Maria Raftewold 59987 63887 BK S:t Erik
2 7 108.6 56.58 Lars-Goéran Lund - Eva Lund 56975 56974 BK S:t Erik
3 6 105.2 54.77 Mikael Ostlund - Karin Ekhammar 64812 54543 BK S:t Erik
4 9 104.3 54.33 Gudrun Dahlberg - Bibi Sandberg 82328 63469 BK S:t Erik
5 1 96.6 50.30 Mia Brunnberg - Solveig Nilsson 41072 41325 BK S:t Erik
6 5 91.8 47.81 Thaitown Nystrom - Birger Bogstag 67924 53063 BK S:t Erik
7 3 90.8 47.30 Eva Wiklander - Ingrid Linnarsson 17165 23525 BK S:t Erik
8 2 90.5 47.14 Kate Almkvist - Henrik Almkvist 44619 93473 BK S:t Erik
9 4 82.4 42.91 Tore Stormo - Ylva Strandberg 78250 9217 BK S:t Erik
10 10 73.8 38.46 Lena Hammarberg - Cary Hammarberg 49083 49084 BK S:t Erik
1 4108762 Bésta kontrakt 2 4 K73 Bésta kontrakt 3 4 D75 Bésta kontrakt
Nord v Kn6é 5v O D -2 300 Ost v K76 6NT S = 1440 Syd v EK953 2NT S D -1 -100
Ingen + EKn6 NS + EK74 ov + 65
*743 & ¢ v & NT *E64 & ¢ v & NT *K75 & ¢ v & NT
4DKNn9 43 N 105 4 108 4Kn98 4 EI10 N 12107 1212 4 K962 4 EKnNn83 N87 657
vEKD94 v108532 S 105 4 108 vD1085 v Kn9432 S 12107 1212 vKn874 v1062 S87 657
+52 ¢ KD983 036925 + D85 ¢ Kn1062 013611 ¢ EK74 ¢ Kn3 045685
2986 &Kn2 V36925 #1075 &Kn9 V13611 &Kn #9864 V456 85
& EK54 & D6542 104
v7 vE vD
+ 1074 +93 + D10982
#EKD105 #KD832 #ED1032
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
3 8 44 N+1 v2 450 7.0 1.0 6 5 64 S= 48 1430 8.0 0.0 10 1 3 N= +3 110 8.0 0.0
10 1 44 S+1 vA 450 7.0 1.0 9 2 44 S+2 *5 680 6.0 2.0 92 340-1 vQ 100 6.0 2.0
6 5 44 N= +K 420 3.0 5.0 3 8 54S= v8 650 3.0 5.0 47 3#S-2 ¢ A -100 4.0 4.0
9 2 44 N= v2 420 3.0 5.0 47 44 S+1 *7 650 3.0 5.0 38 240= vQ -110 10 7.0
47 34 N+1 v2 170 0.0 8.0 101 64 S-1 v8 -100 0.0 8.0 65 24 V= vA -110 10 7.0
4 «D9 Bésta kontrakt 5 « ED6 Bésta kontrakt 6 o- Bésta kontrakt
Vast v DKn1065 34 V =-140 Nord v K7 54 N =650 Ost v D42 44 S =130
Alla + DKn73 NS + K10743 ov + EK9854
&E8 & ¢ v & NT & EKn2 & ¢ v & NT #K632 & ¢ v & NT
4 K1084 & Kn632 N757 47 4 K1093 44 N7 7 10117 4 ED1042 4Kn76 N 107 4 5 4
vE92 vK4 S75747 v E65 v 432 S 7 7 10117 vKKn1073 vE96 S 107 4 5 4
+ K9 ¢ E86542 058596 + D6 ¢ Kn9852 065324 ¢ Kn6 + D1032 036789
#DKn62 #4 V68596 #D1073 #K985 V65324 &9 #DKn5 V36889
4 E75 & Kn8752 & K9853
v 873 v DKn1098 v 85
+ 10 ¢ E .7
#K109753 *64 #E10874
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
76 44 O-3 v8 300 8.0 0.0 7 6 3NN+1 a4 630 8.0 0.0 13 44V-4 *A 400 8.0 0.0
49 34V-2 vQ 200 6.0 2.0 49 44 N= *2 620 6.0 2.0 76 44 V-3 ¢A 300 6.0 2.0
13 2¢vN+1 *4 140 3.0 5.0 58 3NN= 2 600 40 40 58 34DV-1 +¢A 200 40 40
10 2 2v N+1 *4 140 3.0 5.0 13 3NN-2 &5 -200 10 7.0 10 2 24 V= *A -110 2.0 6.0
58 44 0-1 *T 100 0.0 8.0 10 2 3NN-2 *5 -200 10 7.0 49 34V= ¢A -140 0.0 8.0
7 462 Bésta kontrakt 8 4 EKD Bésta kontrakt 9 4 KDKn1073 Bésta kontrakt
Syd vD10984 34 V =-140 Vast vD1032 6¢ N =920 Nord vED 34 N =140
Alla 4652 Ingen + D8 ov + Knl0
#KKn4 & ¢ v & NT #D1053 & ¢ v & NT #K73 & ¢ v & NT
« EK754 4D10 N4 4445 4 Kn983 41042 N5 129 8 7 «E8 4652 N9 4496
v5 v EK7632 S 44445 vE875 vKn6 S 5 129 8 7 v 109865 vKKn43 S 94496
¢ Kn7 ¢ EK103 088898 +5 ¢+ 974 071453 + D854 ¢ E973 0499 47
&#D7632 #10 vV 8889 8 K642 #EKN987 V71453 &E8 #95 V49946
& Kn983 4765 494
vKn v K94 v72
+ D984 + EKKn10632 + K62
#E985 »- #DKn10642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
8 7 64 V-3 +6 300 8.0 0.0 8 7 3NN +2 &7 460 8.0 0.0 2 4 44 N= v4 420 7.0 1.0
24 4v0-1 48 100 5.0 3.0 2 4 3NN+1 &7 430 40 40 6 9 44 N= v3 420 7.0 1.0
6 9 3NV-1 +6 100 5.0 3.0 51 3NN+1 *9 430 40 4.0 8 7 34 N+2 vK 200 40 4.0
51 2vO+1 ¢8 -140 2.0 6.0 10 3 3NN +1 8 430 40 40 10 3 44 N-1 *7 -50 2.0 6.0
10 3 4vDO= +4 -790 0.0 8.0 6 9 5¢ S= *2 400 0.0 8.0 51 3NS-3 vT -150 0.0 8.0

BK S:t Erik, Loérdagsbarometer 2022-01-15, sida 1 av 3




10 485 Basta kontrakt 11 s E4 Basta kontrakt 12 4432 Basta kontrakt
Ost v EK10962 2v S =110 Syd vD1032 44 V =-420 Vast vD97653 4¢ V =-130
Alla + D102 Ingen + Kn973 NS + 102
K4 & ¢ v & NT #1053 & ¢ v & NT D10 & ¢ v & NT
4 KKn1073 4 E6 N6 4856 4 K10965 #8732 N3 66 36 4 Kn9875 410 N3 3965
v DKn8 v43 S6 4866 vK5 v E6 S366 36 v K2 v4 S339625
¢ E53 ¢ Kn8764 O785 76 + 84 ¢ EK62 O 107 6 107 + EK7 ¢DKn8543 O 10104 6 7
&E10 #D653 V78577 #DKn94 &K82 V 107 6 107 #3832 &#KKn964 V 10104 6 7
4 D942 & DKn « EKD6
v75 v Kn9874 v EKn108
+ K9 + D105 + 96
#Kn9872 #E76 #E75
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
35 2vyN-1 4 A -100 6.0 2.0 98 34 V+1 v2 -170 7.0 1.0 71 49y N= aT 620 8.0 0.0
6 2 2v N-1 s A -100 6.0 2.0 10 4 24 V+2 vQ -170 7.0 1.0 9 8 3v N+2 aT 200 6.0 2.0
71 2y N-1 s A -100 6.0 2.0 35 44 0= v3 -420 2.0 6.0 6 2 3y N= oT 140 40 4.0
98 3yxDN-1 #A -200 10 7.0 6 2 44 V= v3 -420 2.0 6.0 35 INO= s A -90 2.0 6.0
10 4 3v N-2 &5 -200 10 7.0 71 44 V= vQ -420 2.0 6.0 10 4 4¢DO= &A -510 0.0 8.0
13 4 Kn108 Basta kontrakt 14 4 E104 Basta kontrakt 15 49872 Basta kontrakt
Nord v 10732 7NT O =-2220 Ost vD92 2NT N =120 Syd v E82 3¢ VD-1100
Alla + 1074 Ingen + DKn108 NS 4653
#985 & ¢ v & NT #EKKn & ¢ v & NT K94 & ¢ v & NT
4 EKD6532 - N3 0O0OO & K97 « D653 N9 96 78 «KD54 410 N657 87
vKn8 v EKD965 S30000 vKn1076 vEK54 S896 77 v Kn5 v 10974 S75787
+ E6 ¢ KDKn9 O 1013131313 4952 ¢+ K7 044765 ¢ K742 ¢ DKn98 O6 86 56
&E4 K107 V 1013131313 #543 D62 V44765 #Knl08 #E765 V6 8656
4974 & Kn82 & EKNn63
v4 v 383 v KD63
48532 + E643 ¢+ E10
#DKn632 #10987 D32
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang
19 64V+1 *4 -1460 7.0 1.0 19 2v0-3 &T 150 70 1.0 8 2 INS+2 &K 150 8.0 0.0
73 6y O+1 *Q -1460 7.0 1.0 82 INO-3 &T 150 70 1.0 19 INS= a4 90 3.0 5.0
46 6NO+1 *Q -1470 3.0 5.0 7 3 INN+1 v4 120 40 4.0 46 INS= *4 20 3.0 5.0
10 5 6NV +1 *9 -1470 3.0 5.0 46 2v V-2 +Q 100 20 6.0 7 3 INS= a5 90 3.0 50
82 74V= v3 -2210 0.0 8.0 10 5 INN-2 43 -100 0.0 8.0 10 5 INS= *J 90 3.0 5.0
16 2874 Basta kontrakt 17 & EKn4 Basta kontrakt 18 & EKn42 Basta kontrakt
Vast v 8732 44 N =420 Nord v E852 3v O =-140 Ost v E985 ANT O =-430
ov + KDKn Ingen + DKn832 NS + Kn32
#K82 & ¢ v & NT *3 & ¢ v & NT #Kn2 & ¢ v & NT
4DKn6 45 N5 9 5 107 4932 & K86 N46 46 4 4 D987 &K5 N2 4653
vyKD65 v EKn94 S59 5 107 v 1076 v KDKn9 S 46 46 4 vD64 vKn2 S24553
+ 863 ¢ E92 O8 37 36 ¢+ E5 + K64 096 978 ¢ EK84 ¢ D9 O 108 7 8 10
#DKn10 #96543 V837 36 #K10982 #E74 V96978 »E7 #KD96543 V 109 7 8 10
« EK10932 4 D1075 41063
v10 v43 v K1073
+ 10754 + 1097 + 10765
&E7 #DKn65 £108
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
8 4 4vyDO-2 4A 500 8.0 0.0 57 INO-2 *T 100 8.0 0.0 21 540-1 v7 50 8.0 0.0
57 3vV-2 + K 200 6.0 2.0 21 INO= *T 90 6.0 2.0 93 440+= v7 -130 5.0 3.0
21 24 S+2 *Q 170 20 6.0 84 INO+1 .7 -120 3.0 5.0 10 6 44 O = v4 -130 5.0 3.0
9 3 24 S+2 *Q 170 20 6.0 93 INO+1 *T -120 3.0 5.0 57 3NV+2 a2 -460 10 7.0
10 6 24 S+2 vK 170 20 6.0 10 6 INO +2 *T -150 0.0 8.0 8 4 3NV +2 v8 -460 10 7.0
19 4 D1083 Bésta kontrakt 20 43 Bésta kontrakt 21 4 E943 Bésta kontrakt
Syd v K63 64 S =980 Vast v EKKn1074 3v S =140 Nord v 1042 44 N =620
ov .- Alla + EKn65 NS + D10
#ED10864 & ¢ v & NT &54 & ¢ v &N #K1072 & ¢ v & NT
a2 & KKn6 N 125 12126 4 D98 4 E10542 N48857 41087 #Kn65 N 107 10109
v Kn92 v 854 S 125 12126 vD6 v 832 S58958 v 97 v DKn63 S 107 10109
¢ DKn97543 ¢EK10862 O 1 8 1 1 2 + KD9 ¢ 102 O8 448 4 + K952 ¢ EKn63 036 333
&53 &2 V18112 #EKN973 #D62 V85484 #D843 #65 V36 333
4 E9754 & KKn76 & KD2
v ED107 v 95 v EK85
*- + 8743 + 874
& KKn97 #K108 #EKn9
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
32 64 S= +Q 980 8.0 0.0 6 8 44 O-3 v9 300 8.0 0.0 32 3NS+1 a7 630 70 1.0
95 5¢DV-3 #A 800 6.0 2.0 95 340-2 v9 200 6.0 2.0 6 8 3NN +1 *4 630 7.0 1.0
14 54S+1 &5 480 3.0 50 32 3vyN+1 *2 170 40 4.0 14 3NS-1 +5 -100 2.0 6.0
10 7 54 S+1 &5 480 3.0 5.0 10 7 3v N-1 s A -100 2.0 6.0 95 3NS-1 *2 -100 2.0 6.0
6 8 64 S-1 +Q -50 0.0 8.0 14 340+1 v9 -170 0.0 8.0 10 7 3NS-1 2 -100 2.0 6.0
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Ost vED10
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N
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Res Poang
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450 2.0 6.0
420 0.0 8.0
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